3 % me following questions, each sen-

——

- ENGLISH LANGUAGE
Directions (1-8) : In cach of

tence has a blank indica
_ something has been c‘sf)mgtf::‘.;
Choose the word that best fits the
meaning of the sentence as a whole.
1.When he awoke the next
morning after the storm, he
saw the garden wall had
and fallen down,
(1) break (2) erushed
(3) crumbled (4) cave
(5) collapse
2. Some insurance companies re-
quire that at least five years
should have before
a smoker could be considered
a non-smoker.
(1) disappeared
(2} elapsed
(3) past
{4) survived
(5} ocor
3. Even after taling all these fac-
tors into account, the compa-
ny’s operating profit is
(1) allowed
(2) impressive
{3) extraordinarily
{4) touching
(5) remarkably
4.Financial experts advise that
as the cost of medicines and
treatment is on the ___
you should plan insurance
wisely.

(1) high (2) alert
(S growth 4} slope
(5) vise |

8. henoticed the discrep-

ancy in Agures, he demanded
an explanation,
(1) Although (2) When

(3 why (4] Despite

Directions (6-10) : In the foi-
Jowing questions, a sentence with
four words in bold type s given. One
of these words given i bold may be

either wrongly spelt or inappropri-
ate in the context of the sentence.

Find outﬂ'tewurdwhicli:riswmilnﬂ
spelt or inappropriate, il any. Iha
wordiayouranewer.lfa]lmewurda

given in bold are carrectly spelt and
also appropriate in the context of the
sentence, select “All correct’ as your
arnswer.

6. The shepherd went into the
pain to look for a meaty
gheep.

(1) shepherd (2) pain
{3)meaty (4 sheep
(5) Al corTect i

7. There is a serial kifler on the
Inse after who has been tax-
geting local children.

(1) serial (2) killer
(3) lase {4) targeting
(5) Al correct
~8.The Russians have been
proved to poasess a sudden
flare for the dramatic.
(1}proved  (2) possess
(3} flare {4) dramatic
(5) Al correct
9, The snake lay quiett motion-
less so, the crow thought it to
be dead.
{1} lay (2} quiett
{3} motionless
(4) dead (5) All correct
10. Some colleges wave their fecs
or earn them by offering guid-
ance and oversight.
(1) wave (2} earn
(3) guidance
(4) oversight
(5} All correct
Directions (1118} : Rear-
range the following eight sentenc-

D), (B), (7, (G) and 1) in the prop-
er sequence to form a meaningful
paragraph; then answer the ques-
tons given below them.

es/group of sentences {A), (B}, (C),

(5) During

(A) Both Ram and Sham realized
their mistake and were
ashamed about what they had
said.

'(B) Vivek happened to overhear

their conversation and was
very angry with both of them
for criticising the tree. ]

{C) Two friends, Ram and Sham,
were sceking respite from the
searing heat of the midday
sun when they saw a huge
leafy tree.

(D)*It's a plain tree,” said his
friend. "Don't waste your time
looking for fruits. It produces
neither edible fraits nor good
wood, it's one of the most use-
less trees around.”

(B} “How can you say such a thing
when you're enjoying the
ghade of this beautiful ree at
this very moment ?” snapped
Vivek unable to cantrol his

anger,

(F) They took shelter under the
huge leafy tree and soon felt
cool and refreshed.

{G) Busy belittling the tree both
Ram and Sham did not no-
tice that another person,
Vivek, was lying on the other
side of the tree taking shelter.

(H) “What sort of tree is this ?
Does 1t produce edible
fruits ?" asked Ram.

11. Which of the following should
be the SECOND sentence al-

ter the rearrangement ?
(a 28

B E 4 F

(5} G

12. Which of the following should
be the BIGHTH (LAST) sen-
tence after the rearrange-

ment ?

(A @B
(3D e
BSF

syt

.
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. MODELPRACTICE SET-15 | i Lery, quite T

_ | 4
) Nlowing should | delighted to {20} this. 5o, Lenny Backed g - .
2 &hﬁ ‘;Eg‘];éosmten; 16. (1) drenk {2 Bive g‘f’;‘get and started m‘;,"::«. _ t“’gﬂ “¥
the rearrangement ? (9) feasted (date : the weight of the wings s he . fﬂﬂjtdy
(ncxll).e 2)E (5) mixed En‘;wgnﬁhislegsandhego:amd' %ﬂgﬁw
3F 4G 17. (1) inhospitable andlower to the ground. Just agh, | Ww
GH hould (2) very (3) nice . got to the crest of the hill, hig),, | *gt- fire
14. Which of the follow:ng :: s (4) smalter  (5) totaily gave out and he skidded acrosy the | o
D e et ? 18.)nor  (@}and B otnd on his face. T@UeSSyoungy | T
M)A (2) B (3)also (4) never be right they arc 2 ““;f heavy, by
e @D (5) but 1imow theshapeISJUStAgL. lwy | )
GIE 1. (1) moving  (2) asleep t go back to ﬁg" vkl hop ang
15. Which of the following should (3)snoring (4} sleeping make them out of somethin,
be the FOURTH sentence af- {5) snored lghter,” said Lenny. e
ter the rearrangement ? 20. [1) doing {2) hear A couple of \:reeks later L <
(13D @QE (3) give {4) see called up , “I've done it," say
BF @a {5) listen Lenny. “1 rewor:‘ied o‘:"’ ‘;‘EES 1 k
Serctions (16-20) ¢ In th Pirections (21-80) : Read the | made (om0 0 P00 5o tight| (
followig passage there are bianks, | IOWINE passage carefully anc 47 D et going by simple fumping of
each of which has been numbered. | Swer the fo/]lathg Slh::e boen giv. | theroof. “when Rudy arrived, Leniy 5.
These numbers are printed below | tain words/phrase was aiready up on the roof with

the passage, against each, five
words are suggested, one of which
fits the blank appropriately. Find
out the appropriate word in each
case.
Once upon a time, a bed bug
hart made its home in the grand,
ornamental bed of the king. The bed
bug led a regal and peaceful kife as
he (18) on the king's sweet bloed.
One day, a flea drifted into the
king's bedroom and flew siraight
inte the king's bed. The bed bug im-
mediately scolded the intruder and
told him that he had come to the
wrong place. “You better leave be-
fore someone notices you,” he
warned. *If you are discovered lurk-
ing here, you will be Idlled at once.”
Theflea replied, “My dear filend, how
{17] and rude you arel Don’t you
lmow that you must welcome a guest
with polite words ? Besides, I have
come here with a purpose. Though
1 have tasted the blood of many peo-
ple and beasts, {18] have I tasted
the royal blood of a king. [ have heard
that it is delicious beyond compare
and I iong to have a sip of it. Please
allow me a bite of the king just
once 7" '

The bug veplied, "Oh flea, I
suck the blaod of the king when he
Is fast {19). [ am careful to bite him
80 gently that he never feels my bite.
You are wuch too impatient. I'll
&gree to let you have one bite of the
king, but you will have to wait till I
am finished myself.” The flea was

en in bold to help you lacate them
while answering some of the ques-
tions.

Once upon a time, there was a
boy named Lenny. Lenny invented
all kinds of contraptions. One day
Lenny decided he wanted to fly. “1
am going to invent some wings and
fly,” Lenny told his friend Rudy.
“Yow're crazy. You won't even get off
the ground.” said Rudy. “You'li see’,
said Lenny. So he went dewn to his
workshop and began working, Day
and night, he worked. No one saw
Lenny for weeks. Then one day he
came out of his workshop with a
great big grin on his face. He called
Rudy on the phone, “Rudy, tomor-
row I will fly, but I need your help.”
said Lenny. wings?™ asked Rudy.
“Yes," said Lenny. ‘They're a little

_heavy though. I need you to help
me drag them up to the top of Kill
Devil Hill. | made them out of some
scrap metal, I had laid around from
when I bullt my helicopter last year,”
said Lenny. “Metall Don't you think
that will be too heavy to use for
wings?" asked Rudy, “No, I will be
like a human afrplane,” satd Len-
ny. "0k, I will be over and well try
thern out”, said Rudy.

The next morning they dragged
the wings up to the top of the hill
and Lenny strapped them on. “The
faster Lrun, the lighter they will get.

these wings. Lenny backed up alitfe
and took a quick dash and a jump,
SMACK! The wings broke right
off and Lenny landed on his head
in the middle of some bushes nex
to the house. “ I guess they may
have been a litile weak, but I kmow
the shape 1s just right. I will just go
back to the workshop and make
them out of something not as heavy
as the scrap metal and not as light
as the tissue paper,” said Lenny. A
couple of weeks later Lenny called
up Rudy, “1 reworked the wings. 1
made them out of wax and balsa
wood. These things just look like
bird's wings. Meet me at Kill Devil
Hill,” said Lenny. When Rudy &
rived, he saw the wings. They did
look good. Rudy helped him strap
on the wings. Lenny backed up and
began running towards the crest of
the hill. He didn't slow down and
justas he got to the edge of the hill
he started to lift up into the air. H¢
was flying! He flew higher and
higher. He was really getting high
noew, and he started to worry. “How
do 1 land these things™? he asked
himself. That question was about
to be amswered, All of a sudden, it
noticed that his s were start-
ing to melt. He had risen so high
that the sun was starting to melt
the wax he used to make the wing®
Pretty soon he had littlc tiny wing®

The wind will i me up and I will

and he was flying about a hundred
miles an hour down towards the

; i e At 4 AL
et e b 1



%&Q : ﬁ,,;h‘e crashed lo ggeh trees. @ — ==}| Mo
Sy ¥ up. "Are you t?" he Lenny sucees learn oh e .
Qgé“&t 1%'5'; , 1 think so, but I am from his mism?sﬁc,:lﬁnd m: 30. slmuethemwl‘dchia ¥
Soggalyy {#hnuey golng fo auil g o O proved upon them. | simiar in meaning to the
JZLQ‘;WBQ; 18 190 rough on the body’ said (2 L&:;m‘g;] sought Rudy's help In the pfs‘;“a’;e‘f‘ bold as used
Y- { ti .
1‘03&"& w?ywhy could Lenny not fiy the could use!:i?v;:g;h;tﬂhe :;-m '
Vo thy prst me around with the {3) Lenny © y. (1) aport (2) bear
ity | gaoge he had designed? Lenny continued to make | 100 (4)don
It} ‘l:'umt (1 1;:::& were not tied secure- the ond o s “u‘;eﬂ!“ng ' (5) display
b eu olt, *
gfh%q {2) These were made of a ma- ) oy & NUMERICAL ABILITY
In terial which (2)Only A and B
e gy raclted in the (3)Only ¢ shw]gircctlona (31-38) : What
4 come in place
i;;‘ Sagy 6l mmke on jumping off {5} ?,“,.;:; f ;::fg 33: n};ark @ in the foll?a&rtilrl:eg ques-
g5, - )} 26. Choose th iy
tise | (4) These were.too light eword whichismost | (NOTE : Y
l‘g&g?‘; carry his Weigh]:.gh tohele Worﬂoppo?i:e in meaning to the l %1211-:1::: ﬁtm ‘t:,&lu?)
ing | )Other than these given as i o or ol as wsed 81. 1504 x 5.866 - 24.091 =7
s | < Crest - Gyaso  i4)5400
ith , which of the following is tru 1)d (4) 5480
ality, | according to the story? s e :31 depth g{ ‘;:;tk"m (5) 8800
. |00 Rudy foo tried to fy it | feather - T Ty
lh eﬁ; b ; . p of Lenny’s contrap- | 27. mc::hts c;}liezr tge following 22 %g
. “ngd {2)Rudy was as brilliant as COmes acToss :gry' sm';?,f’ﬁ €)%
e ‘i Lenny when it came to in- the story? $3. 37538 x (61207 - 4.9256 =
- venting things, (1) He was an extremely friend- ? '
nag: 9 m ohfdd tc} pagimm his lﬁ’;}.ff.ﬁm and madg alotof {1) 70 {2) 55
N i er for his dream s, {31 30 4) 2
l?;;{ “ Etzmmc & reality. (2) He was physically very {5) 20 W
y. A m,]gh ],en ny did man- Stl'OI'lg. 34, 16046 +2.8x% 0580=7
alled age to fly in the end, he did {3} He excelled at studies, (1) 35 2)79
gs. I not know how to tand. (4) Bis imagination was com- 319 4 5.8
aulle;cg (5) All the given statements are . - pletely out of control. s 62
true. ) He was determined and fo- | 856, fos3 + (4 2 _ =
sevil | 23, Choose the word which is most cused. u?seﬁ + A8 9247
ar- opposite in meaning to the 28. Choose the word which is most (3) 85 (2) 35
did word/s given in bold as used similar in meaning to the (5)25 (4 45
Tap in the passage. word/s given in bold as used ) :
and Backod up n the passage. _ Directions {36-48) : What
tof o o Rough should come in place of the ques-
i 2) pmroc ted (1) smooth  (2) coarse on e @y fhe ollomng e
e (3) supported g m (4) harsh 36. (12 % 19)+ (13 % 8) = (15x 14)
*? -
[Iglh (4) topped 29, Which of the following can be (1) 124
(5) jumped ) (2) 122
oW % said about Rudy ? (3) 126 (4) 128
ed Which of the following can be © (1) He was in fact jealous of
ut the most appropriate title for Lenny. ' (5) None of these
t:te 31;: stmy‘?Th . (2) He was a supportive [riend. 87. J65x12-50+54 =7
. Lenny-The Flying Inventor {3) He never once questioned
1 2) 287
;;llz (2} The Story of Rudy Lenny's ideas. ( 3)) Q‘EE L:] 764
!s... (3} The Failure Named Lenny (1) Only A ([5] Nane of these
s {4) How to Make Airplanes (2) Only B 38. 152 : g 4 (228 + 197 =7
A | (5} Flying Across a CIUT (3) Only C " (1) 1360 ) 1354
i ! :'ehlch of the following cannot (AAllA, Band C (@168 @ 1381
. s sald about Lenny? {(5)Only Aand B (5) Nong of these
e —] (1CSE-171) ¢




,ﬂfbnnl-mcncxsm-lsl _

89.38.734 4+ 8.638=5.19="7

Co14re71 (2142179
(343072 (442.182
(5) None of these
40, 789 & (343 x (OB F =77
{})134 (2) 12.8
{3) 11.4 #o8

(5) Nene of these
41.(42x32}+ (16 x1.5) =7

(1}5.9 {2) 56

(3 6.1 448

{5 None of these
42.842 + G x28=1099+17

(1) 478 2) 502

(3) 486 (4) 504

{5) None of these

DE8x25x76 =2
Q5
{1)384.2 (2) 378.5
(3) 364.3 {4) 372.4
(5) Nonz of these

43.

3 2
4. - of = of 7428

5 7

{1) 2490 (2) 2565
(3) 2475 (4} 2485
{5} None of these
13 104 52

45. 5518 “19°

Y3
0 373

X ?

13
) 71
18

4 =

17
@ 171

171
(5) None of these
Directions (46-50) @ Study
the following bar graph carefully to
answer the questions,
Marke Obtained By Five Stn.
deats in Physics and Chemistry

01 Physics [ Chemtstry
40

of the oﬂgiﬂal marks:
be his new AP
what weuld e in
proximate percentad um
Phy51cs if the mlfm
(1) 57 [2] 32
(3)38 (4)48
5) 41
48,100 n the blans space fn or-
der to make the sentence cor-
rect as per the given informa-
tion. Total marks obtained by
T both the subjects togeth-
er is more than the marks
obtained by —
(1) @ in Chemistry
(2) R in Physics
(3} in Chemistry
(4) P in Physics
{5) R n both the subjects to-
gether
49. What is the respective ratio
- between the total marks ob-
tained by P {n Physics and
Chemistry together to the to-
tal marks obtained by T in
Phystcs and Chemistry to-
gether ?
1)8:2 2)4:3
315: 3 @2:1
50 (5} None of these
» What is the respectiv.
between the totaI; marisr?:tlif
tained by Q and 5 together ipy
Chemistry to the tota) marks
o lesw:g Pandr togather
(1)23:25 (2)23:9)
B3)17:19 917.03
(3) None of thege
B1. Present age of a is
. Therespec_
tive ratio betwesn the presg
agesof Annd C s g : b, !fBIil;
B.yem-s older than C. what s
B's present age ? (in Years)
(1) 20 {2) 24

928 g
® 2

56.

a6,

same class 18 42, Il the

acore of the whole ¢

and girls together) i3 3,
many girls are theye

class ?
(1) 15
3 24
(5] 20

The speed of a boat iy
ter 3 17.5 Janph and the sy,
of the stream is 3.§ ]ﬂhph.,
the boat takes a tota} g
7 hours 40 minutes tg
from point A to B (ups
and then returning tq i
(downstream), what ig thedg

tance between points 4 andgy
{in km)

(1) 61.6 (2) 583

(3) 67.2 (4) 644

(5} 62.4

A and. B started a busineg

with investments in the g
spective ratio of 4 : 7. Afterg
months from the start of the
business C joined them wig
an investment equal 10 halld
B's investment. If the diffs-
ence belween A's share of @
nual profit and B's share
annual profit is Rs. 2160, wha
Is C's share In the anmd

profit ?

(1) Rs. 1180 (2) Rs. 1260
(3) Rs. 1680 (4) Rs. 1360

(5} Rs. 1320

16 men can finish a projecttt
45 days. Only 36 men startd
working and after 4 days 1
women replaced them. If the®
12 women could finish the™
matning work in 54 days, b
many days will only 12
take to finish the compk

project ?
(1) 71.5
(3) 675
5} &5

{2) 30
{4} 18

(2) 685

(4) 69

The sum of dtameter

cumference of circe A
metre. If the radifus of the

B is 10.5 melre les?

circumference of ¢f

Metre)
(1) s8

(2 77

than o
radius of circle A, what®

Il

stilty,

birmg
Uy

Y]

d
oo
"
i
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)L a) 96 (4) 110 —
W g; 66 g; ;gz; ;g; REASONING ABILITY
g tloss iIncurred wh, * -
NN t{e - T O ete 15 s0ld for Rs, Sa? (4) 75% 0f 320 Directions (86-70) : In each of
t],% 5} uble of the pevcent | 8 {5) None of these the following guestions, relation-
g 40 s In- ship between different elements is
(y, bty curred when the same article 3. Matthew scored 42 marks in e otatements, The state
Iy ¥ § g sold for Rs. 654.50, What 1 biology, 51 marks in chemis- Shwt: ::c ff)]?owed by two Cosndu:
4 ' the cost price of the artice ? try. 58 marks in mathemat- :ilzs pumbered 1 and 11 Study the
3 ¢ MRs.770 (2) Rs.795 ics, 35 marks in physics and Conclusions based on the given
‘N}bnahll | (@ Rs.-765 (4) Rs.790 48 marks tn English, Themax- | S 0onte and select the appropri-
. iy Sy, ¢ (5) Rs. 775 imum marks a student can ) .
k 3 s“}e 'Q 855 can.d'ldat score in each subject are a0. ate answer
Bap ‘Yn% €S applied for a How much overall percentage Give answer (1) if only Conclu-
ﬂinmh"!l x  Job cut of which 80% of the did Matthew tinl;:,lcﬁrs exarn? | ston I iz true.
gy  candidateswere rejected. How 82 Give answer (2) if only Conchi-
, By s  many candidates were select- 117 (2)82 _ c :
Ehghh ed for the job ? @es 478 ston 11 is true,
tpuhat’%u.m' (1) €84 {2) 151 {5) None of these Give answer (3) dir sliautl';l l;l;;
hts&w? [3) 676 4 179 84. Bus fare hetween Raipur and Conclusion 1 and Concluston
: Mirpur for one adult is six | true.
) 5g {8) None of these Himes th ;
I e fare for one child. If Give answer {4) if neither Con-
[4) B4 0. Average of five & s m‘hsl 1_ i an adult's bus fare is T 114, | .jysion 1 nor Conclusion 11 is true
ifthe aversge of fust and how much amounit will be paid Give answer ) if either Con-
ted nurabers is 69 and the aver- by 4 adults and 5 children to-
Ent dbug;  ageofsecond and fourth num- " gether for ravelling the same clusion I or COMEUSi“n Iis true
by!  bers is 69, what is the fth distance ? 66. Statement :
the;t:,f"“*. mamber? (505 (21T 551 B>R>I2G2H=T
ined M“gg )81 {2) 29 (IP572 (4} 560 Conclusions :
equal ot (3) 25 {4) 35 {5} None of these L B>H
L H[hgﬂf {5) None of these 85. A truck covers a distance of I T=1
4's shgd,l 60. The respective ratic between 368 lan at a certain speed in | 67. Statement :
A B dupej the present ages of father, 8 hours. How much time ReB<O=N2S<V
.Rs. 21608 mother and daughter is would a car take at an aver- Conctusions :
tn the s 7 : 6 : 2. The difference be- age speed which is 18 km/hr L BeV
| tween mother's and the more than that of the speed - o=
2 R, 190 e daughter's age is 24 years. of the truck to cover a dis- I. N>R
3 Ilﬂ ; ) is the father's age at tance which is 16 km more | 68. Statement :
Lholad Prl;lmt ? than that travelled by the CoH»A<RSGE
. fruck ?
b apo (1) 43 years (2) 42years (1) 7 brs (2) 6 hrs Conclusions :
mmsﬂg (3)39years (4) 38years (3) 6 hre (4) 8 hrs L. C>R
Y {5) None of these ] (51 None of these N E<H
ﬂ“ﬁ: 81 Average weight of 19 men is | . 69, Statements :
74kgs. and the averagewelght | Cen . 14 : S<T=12Cx<K:
of 38 women is 63 kegs. Wh;.t 0 ’hne Shoppmgw TP
is the average weight (round- | | Baoks AND MAGAZINES )
ed off to the nearest integer) of Kiran Pr han ?"nclm :
of all the men and the women Bt - P<K
together ? Get books 70 g K=P "
:;)59"33' (2} 65 kgs. and magazines of . Tmem>Y>t!n<E'zW-
{5; 3? :ﬁ (4) 67 kgs. Kiran Prakashan G<U>B '
82. What should come in place of | | &t your doorstep e"ﬂsllyf Conciusions :
the question mark so that 1t log on our website : . T>U
satisfies inequality of the U G<W

equation ? 329 of 750 <7
(1)23% of 600

www.kiranprakeshan.com A

71. Which of the following will

comt next in the following

A
ey




| MODEL PRACTICE gy, | 3~
folo o1, How Many PeTsons are o~ /
MODEL PRACTICE SET-15 | between & and T whey - o # g6
! ed from the right of 1o 0} g0t
b series 7 than d
TN ; 1 (1) More i‘hree ﬂﬂ
i 09019";“;'323?334 (2) Three @) Noy, | . go**
ol 23450 @ 'I\m} . Gl on. ¥ l?l
: . . is/are sitting
i o @6 rp—— NMDX 82, Who tyy,| 0
G {2G tween U and Q when
Lk o @7 (1 XDMSG (4) DXMGN from the right of 17 p _"W%y] - o
R (3) XDM ed A
gl ®re (5) Cannot be determins, (1) R. W (2) 8,7 I
i Directions (72-74) : Study (76-78) @ Study P, R @7 g P
B Directions and [3) P. .V
PP the given information careﬁll.lr and the given information ! (5) V. W 55'59‘ .
~§r answer the given questions : answer the given guestions : ding | 83. What is W's position with { AP
g Amiong six people - 4, B, C, Twenty students are star enect to Q ? &
ol D, E and F each of a different age, masmghtlmefacingnﬂrﬂl. Rina 1P]eFourth to the left Ally
i A is younger than only D. Only sixth from the left end. ( m
d is standing b (2) Third to the right S0
ol three people are younger than C. F There are only three students be- pat
ok 1s younger than E. F is not the [ = b2 and Shweta. Radha is (3) Second to the right 88 ;
i youngest. standing exactly between Shweta (4) Second to the left L ;
A n 72. Who amongst the following is | and Rina. Tina is standing sixth to (5) Third to the left
N F the youngest ? the right of Radha. Anita is stand- | o, which of the following sty | 1. 4
Y ik (yB @a ing fourth from the rig:;';le;;d ugig‘f ments is true regarding py i
1 m - 3
$ P e e dens between Rin and Tina. () o o the given opting| g, o
] b _ [5) None of these 78, How many people are stand-. (2) P sits second torightorg| L
il 73.If E's age is 16 years, then ing between Anita and Tina ? 3) S sits to immeds ¢ 0o .
r which of the following may be (1) One (2) Two @) of;l e righ .
Ry B's age? @ Three  (4) None '
R (2} 19years  (2) 22 years (5) More than three “ g?ernﬂ;r:;cﬁ]rsons sitbe | 90, :13;
0 {3) 18years  {4) 17 years 78. What is Shweta’s position
3 years . with respect to Anita ? (5) P is an immediate neigh| g
. %) 12 ) S‘:;pm th?e left ' bour of both Sand T, Cox
L 74. How many people are young- @) Eighth to the left §6. Who is sitting third tothelt|
T er than E ghth to the le of W 2 L
b (3) Seventh to the left I
it (1) One {2) Two (4) Ninth to the left (1T @v .
‘il 3) Three (4) Four (5) None. of these Eg} PQ 4R Dhy
L [5) More than four 80. Which of the following will . the
4 75. “Tall’ Is related 10 ‘Speak’ in come in the place of the ques- | Directions (86-90): Incatd| - give
i acertain way. Stmilasly, Hon- ton mark:(?) in the foll the following questions, *"“’m’“:; Au
R est’ is related to ‘Truthful’. serles based on the English | Statements followed by twoC n
it Following the same logic, ‘Lis- alphabetical order ? stons numbered I and II have b Chm
=k ten' isrelated to ' ", Zrw. VUS RQO ? Jig | &iven. You have to take the g2 icunaj
i (UMusic  (2) Bars W @My S oatements to be true even U} o Delt
g1 H . {3) NLK (4) NME Seem to be at a variance from & ing
g ﬁ (5) Sound - Directions (81-85) : Siudy the | rick of the given Conclusionsl;'i gy, 201
& 76. How many such pairs of let- following information carefully ang ically follow from the given s hei':lhgi
' !‘J ters are there in the word answer the quest;[oné ments disregarding commot mqn or
;-}i'{ll WONDERS, each of which Eight glven below ; known facts. iy th,
] has as many letters betwaen Fersons -P. Q, R, 8, T, |. nly CoP| o0 e
U, V and W - are sitting ar, Give anawer (1) if o iy
E :' them in the word [m both for- circular table fa the ound a sion 1 foll 'h\ o
i ward and backward directions) | equal distance Lo ¢ CENES, with ey oty O | g K01
133 a they have between themin | por oo > 0o Veeh cach other | Give answer (2)ifon podune
i the English alphabetical se- | gor. R sarily in the same or.- | Slon I follows. P th;"m
jid ries ? S R sits second to left of U, Only Give answer (3) if poth i+ Bay
v (1) One Sits third to the right of S, Neyy), | tnehasion 1 and Co BT thy
2 3 (2) Two S nor Vis an immedjage néighbtg or | low. er 4 b gy
(3) Three of U. Only two persons sit bepos Give answer {4) if“"in i Sefore
; {4} More than three Uand Q. W is not an immegiay clusion I nor Conclusion hcfof.' &*mmu
(5) None neighbour of Q. ¢ Give answer (8] i "{: ity %’W
H clusion | or Conclusion ! v
_:_. . %' I\\_—‘M;&W:ﬂ i \%




4 i) s Seatements
: v ,gllpmksgreblues.
: . Allyellows are pinks.
I.'-."' some colours are pinks.
1 At least some colours are
; blues.
’ Il All pinks heing colours is
a possibility.
a9, conclnsions
g L All yellows are blues.
3 1I. At least some yellows are
: . colours.
4 ¢0. Statement :
At roazs are paths.
No path is a bridge.
. 1 Somebridges are roads.
0. At least some paths are

!
{

F e

.ﬁ‘s—aﬂ

roads.
-Directions (91-95) : Study

" the given information carefully and
3 aswer the given questions =.
» Auditions for a show were held
y in seven different cities of India -
 Chennai, Bangalore, Cochin, Mum-
; “bal, Delhi
’;"‘-' necessarily in the same order, dur-
“:‘ing the first seven months of the
j Yeax2011 (starting in January and
! “endifg in July). The auditions wers
. held only in one city during a
5 month, Auditions in only four cif-
": tes were held ibeme:; the Kg:ga;a
- audition and jthe Cochin auditios,

1€ dzﬁlditlon was not held
‘one audition was held
feen lkata audition an

sngaléyé andition. The Chen-
] i rag held jmmediately

. Bhopat and Kolkata, not

between the Mumbal audition
and the Chennal audition ?
(1}One . (2} Two
(3} Three (4) None
~ (5)More than three
92, Which of the following state-
ments is true according to the
given sequence ?
(1) The Mumbat audition was
held i July

(2) Delhd audition was held in
ril

Ap
{3) Cochin auditdon was heid
before May
{4) Kolkata audition was held
in January
(5) None is true
93, Four of the following five arc
slike in a certain way based
on the given sequence and
hence form a group. Which
one does not belong to the
group?
(1) January — Kolkata
(2) March — Bangalore
(3) June — Cochin
{4) May — Delhi
{5) February — Chennai
94, During March, the audition
was held in which of the fol-
lowing cities ?
(1) Bangalore (2) Kolkata
(3) Mumbal  [4) Chennai
{5) None of these
95. The audition in Mumbai was
held in which of the following
months?
(Hduly () May
(3) February {4) March
{5) None of these
Directions (98-100) : These
questoens are based on the follow-
ing five three digits numbers !
587 649 378 925 864
96. 1f'2' is subtracted from all the
odd numbers and ‘1" is sub-
tracted from all the even num-
bers and then the mumbers are
arranged in ascending order,
which of the following will be
the second largest number ?
(1) 925 (2)378
(3) b87 (4) 864
(5) 649
@7, Ifthe positions of the first and
" the third digits in each of the
aumbers are interchanged,

ence between the first and
third digits of the second larg-
est number thus formed ?
e 2)5

(334 4)2

511

88. I all the three digits within each
number are in ascend-
ing order then what will be the
third digit of the smallest num-
ber thus formed ?

(i)2 )5

7. 416

9
. Jn which of these numbers, the

surn of all the three digits is
- an odd number 7

(1) 378 T (2)925

{3) 649 .. (4) 864

(5) 587
100.Ii 1’ is added to the first digitin
each number and then the po-
sition of the first and the third
digits are interchanged, which
of the following will be the third
digit of the second highest num-
ber thus formed ? .
(1¥7 25
(34 (43
()8

= Auswehs =

1.3 3.2 40

5.2 7.(3) 8. (@)

9. (2) 11. 4] 32.(1)
18. (4) 15. ()] 16.(3)
17. (1 "19.12)] 20.12)
21. (5 23. 1)) 24.19
25. (2) 272.5 28.4
29, (2) 3LG)| 32 ()
83. (1) 85. (@) 36.1)
a7. 3} 30, [@)] 40.()
41. () 49.(a)| 44.@
45, 2) a7.5)] 48.02)
49, (4) B1L. 3 B82.01)
53, 4 55, (8)] 56.(1

2.2

6.2
10. (1)
14. (3)
18. (&)
22. (4)
26. (2)
30. (3)
34. ()
38. (1)
42. ()
46. (1)
50. 2)
54. (2)

57.00)] 58.{5] B9 [2)] 80-{2)

6L | 62.(3)] 634 64.2)

665.(9] 66.(3)] 67.(1)| 68 {1)

89.3 [ 70.@] 7L 72.(1

79.6)| 74. 2] 78.13)] 76 1)

7.0 76 (2] 79.(3] 80.H

81.19) | B52.02)| 83.{(1]] 84.4)

85.(5)| 66.(6)] 87.(4)| 88.(N

80.19)] 0. (1}] 91 (1)} #2.(8

03, (@) | 8% @] 98.(5)] 68 (4

then what will be the differ-

7.@ | 5 (6] o6. @] 1001

nead sSeid R S A R e L
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A

28.(4)

g EXPLANATIONS =

1. {3)'crumua {Verb) = to break
into pi
Ifabwldingtsa'umhling parts
of it are breaking off,

2. {2) Elapoe (Verb) = go by : ifa
pcnod of time ¢lapses, it pass-

- (2} Impressive {Adjective} =
making you feel admiration.
4.(5) On high = in 2 high place
On the rlse = increase

8. (2) When => After ; considering
that

6.(2) Go to great pains to do
something = to put a lot of ef-
fort into doing something,

70(3) onmm=hmes-
caped from scruewhere: free.

8. {4) Here, not an Adjective; but
a Noun (.e. drama shounld be
used,

9. (2) The correct spelling is : quist,

10. (1} Waive = to choose not to de-

mand something in a particular
case even though you have a le-
gal right to do so ; forgp

18. (3} The word Feast (Verb)
means: to eat with great en-
Jjoyment.

17. (1) Theword Inhospitable lAd-
Jective) means : unwelcom-
ing: not giving a friendly or
potite weleome to guests.

23. (2) Back up = to provide sup-
port somebody/something
Protest (Verd) = to say or do
something te show that you
disagree with or disapprove of
something.

28. (2) Crest (Noun) = the top part
of a hill or wave
Bottom (Noun) = the lowest
part of something
Look at the sentences :
Surfers riding the crest of the
wave,

1 waited for them at the bot-
tom of the hill,

Rongh

= harsh ; violent

Look ot the gentence @

They complained of rough han-

dling by the guards,

(Adjective)

omebody out = 0
30.{3]““ mfeewmd

mokattlle
"[‘hg]dds haVB
out.

81. (5)?=1500%6-24

~ 9000 - 24 = 8976
answﬂ"‘ssoo

mtallyw"mme

32, [8)?~17+26+5=

3s. () ?= Yo x6%-b
=2x36—5w72"5”67
 Required answer =70

34. (?=16+3x1=533
+ Required answer =56

95. (4) 7 = 565 +(4.006)° - 024

=31+ (- 9=381+25-9=47
. Relquired answer = 45
36. (2) (12 x 19)+ (13 % 8)
=(15x14+?
=098 + 104 =210+"7
=332210+?
=2=332-210=122

87. ) ?= Jye5x12-50+54

= J780-50+54 = J784 =28

2
38. (1) 7 = 1xa+[1f"§f—)

=1216+ 144 = 1360

89, (4) ?=38.734 +8.638-5.19 "

= 47.372-5.19
=42.182
40. (1) (7*° + (77 x (PPo= {7y
= 709 4 TR 76 (7)
= {7)80-51+ B8 (77

@) =a™;
am % an - al'l'l.'l‘ﬂ.

a™ « " = g1

= (™M= (77
=7=134
41. (2)?7={42 x3.2) + (16 % 1.5)
42x32
T 16x15

yes (5]342.1-62(28 1099-|-? . &

426 X7 x5

45. 27=33 14 19

=53 104 19

18 14 52_13 ;lprh

[TZOY | M

48. (1) Total marks obtained l&ﬁ 35”“"
Ch

emisiry ,“15’
=00+ 110+ 100+ 120+80

1506 = 1099 +7
=_..,.?=1593 - 1099 = 407
9.8x2.5x7.6 7
48. @?="— o5 =3 ,t’iﬁ
5( .
2
44.()?""’"5'426 , '@,,15

=?= 2x3 =2485 Iﬁlﬂ:udﬂ
13 104 52 F?ﬁ

=480 #wfl;;ﬂ s
. Requiired percentage | 0
120 LT
480:(1(3'.') 25 it 60
47. (5) New marks of T .
_50x114 _ .. -Tzw'sf
= 7100 §
». Required percentage yorting to LB
57 x100
o 2P 407 = 2
=ap ~ W07 =4l ﬁ’?
48. {2) Total marks of T =50+
= 110 k+3x f
Marks of Rin Physics=80 |,== _°
110>80 2
49. {4) Required ratio
= (180 + 90} : 110 .
=220:110=2:1 el
50. (2) Required ratio
= (110 + 120} : (130 + 80)
=230:210=23:21 S
51. (3) Let B's present age b¢ N H
years. &
~ A's present age "-1‘:%
= (x= 4) years szs%
- C's present age " :
= (x- 8) years "‘N
According to the questicn. %‘
x-4 8 M
x-8°-5 \“‘:
= 6x-48 = 5x-20 PN
= 8x- Bx=48-20 M
= x =28 years itl 1% 5‘23;
82, (1) Let the number of 8747 [
the class be x. .X
According to the questio® L.

==} (JCSE-17¢ wﬁﬁ# !
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‘;".. N
b 25x34+xx43
}Q% ' 35+ x =37

\%‘ . = 880 +42x=37 x 25 + 37x
: = Bx=756
K 75

=x= 5 =15

B3. (B Let the distance hetween
points A and B be x km,
Rate downsiream
= {175+ 3.9) kmph
Rate upsiream
={17.5- 3.5) kimph
=14 lanph
Total time = 7 hours 40

40
minutes = 7-63 hours

23
3
- According to the question,

1 x x 23
21 14 - 3

2
- 7= _
= 3h(:n.u's._

2x+3x 23
= —

42 3

I:i- -y

=b5x=-2§- x 42

23x14 322
o exaTg =g
of =64.4 Jan.
{2} A's investment = Rs. 4x
B's investment = Rs. 7X

. Tx
C's investment = Rs. -—2—

' Ratio of the equivalent
4 capitals of A, B and C for 1

month = (4xx 12) : {TxX 12) ;.

[%xxfi] 16:28:7

If the annual profit be Rs. ¢
then

W
P 28-16
[1_5+28+7] y=2180

Bl
= 12y =2160% 51

2160x51

= y= = Rs. 9180

7 _
k C'sghm = '5—1" x 9180

=Rs. 1260

(3) Work done by 36 men in 4
days = W, (let)

MoDs

M,D»
=kl _
= W,

- Wl

18 x 45

4
This part of work lLe. gth

parts is done by 12 women
§4 days.

work = ﬁfé =67.5 days ’

(1) Radius of circle A = rmetre
(tet)

According to the question,
2rr + 2r= 203

= 2rin+l) =203

22
=>2r[—7—+1] =203

29
= 2rx ? =203

20337
2x29 - 24.5meire

~ Radtus of circle B
=24.5 - 10.5 = 14 metre
+. Circumference of circle B

=re=

= 2)(%){14 = 88 metre

57. {1]Let the GP uf nrtlcle be
Ra. x. "
According to the queatim.

(f.:?ig-] x 10O ‘
X

x
= (x-539) = 2{x- 654.5)
= x-539=2x-1309

= 2x-x=1309-539

= x=Rs. 770

§B. (5) Candidates selected

855 %20
= 100

B9, (2} Fifth number
=5%x6l-2x69~2x69

=305-136-138=29
60. (2) According to the guestion,
Bx—2x=24
=4x=24
=x=06
~ Father's present age
=7x=Tx6
=42years
61. (4) Required average weight
19x74+38 %63
= 19+38

1408 + 2394
- 57

B 2[:: - 65450])400

=171

3800
= =57 = 8686

=67kg
82

62. (3) 750x—-_ 240

23
600X —=
100 138

o8
mxm_zﬁ

75
20X —=
XIOO 240

63. (4) Total marks obtained by
48 = 234

= 300

ICSE-177 M‘m‘ .

)

P————

e T et



MOBEL PRACTICE SET-15 |

* §4:-(2) Pare of a child
=114+ 6=Rs. 19
+ Required total fare
=Rs. 4 x 114+ 5 x 19)
= R8. (456 + 95)
= Rs. 55]
65. (3} Speed of truck

.

~ Speed of car =46 + 18
= 84 kmph

2368 +16 =384 km
v Required time

384 _
=g - Ohours

86. B R2S5>T>U>X
R:xS>T<V<W
W>VaTrU>»X

Conclusions
LR>X:True
ILX<W:True

87. (1) E=F<G<H

FaF«Gp!

IsG<H
Conclusions
LH>1:Tre

I E>[: Not True
88. (JA>B>F>C<E<D

il. B> D : Not True
60, l3]K5L5M=NsO$P
Concluaions

I. K<P:NotTrue
II. K=P: Not True

equal to P,
70. 2)D<E<F<G
D<E<F«<K
K>F>Q
Concluziong
L K<G : Not True
0. K>D : True
7L (2) 09, 019, 0129, 01239,

012349.0123459.012345
(?2-74) ;

D>A>B,C, EF

D>A>C>B,E, R

D>A>05E>F>B

Distanice to be covered by car

K is efther smaller than or

tween Any
79, (3) Shwetg 45

73. (1) B is the youngest- E.
Therefor & B‘B ag

78. (2) Two persors.

to e
synonyn'mus

Hear.
76. (4)

111
-
——— Tt
—— 3 D)

Therefore,
.-IONEY——-)XDMNG

=il

left of Aniig,

oA t

73, G} Bis wl’f’g""’-g’:ﬁ,m be 12

¥ and B aré

l.lﬂget' art & are Synm—
75. (3) mm‘;g{’ffﬂ]fm Straflar-

ymous thful are
ly. Honest aﬂgo TZ:ch other.

Therefore, Listen is retated ©0

81. (3) T sits to the immediate Jy
of S. '

82. {2) Sand T are sitting beiwee,
U and Q. when counteq fron
the right of U,

83, (1) W is sitting either fourth g,
the left or right of Q.

84. (4) P sits second 1o the left of
R.

S sits second to the left of B

P is an immediate neighbour
of both V and Q.

85. (5) P is sitting third to the ki
of W.

{86-80) :

() All numbers are characters -+

Universal Affirmative (A-type).

() Some digits are numbers —
Particular Affirmative {-type)

(i) No character is an alphabet =

'niversal Negative (E-type).
{v) Same characters are not a-

Phabet — Particular Negative
(O-type),

Some digits are numbers.

All numbers are characters:
+ A =2 I-type of Conclusion

All numbers gre chapacters

No charster is an alphabet

!\. . . -
) Eaas "‘_!i'-’-lao»r&--l---——--ﬁ-"

"Some digits are characters”s i

- %
AW RRRYT AT 2

%

fa

e




it //;-.;:—:: E-type of Conclusion.

mcrlcn SET-15 |
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o mumber is an alphabet”. (Q)
gome digits are characters.

No character is an alphabet.

14 E = O-type of Concluston,
«Sgme digits are mot alpha-
bet". (R)

g6. (5 Conclusion I and Conclu-

gion 1 form Complementary
Pair. Therefore, either Conclu-
sion I or Conelusion 11 follows.

7. (4} Neither Conclusion I nor
Conclusion 1 follows.

i
All pinks are blues.

A+ A = A-type of Conclusion
“All yellows are blues”. (P)

Some ynks.
All pinks are blues. '

I + A =5 I-iype of Conclusion.

“Some colours are hlues”. [Q)
88. [9) Conclusion Lis the Conclu-

sfon (Q).

“Vern diagrams of “Some co-

lours are pinks” :

m
Venn diagram H supporis Con-
clusion IL
89. (3) Conclusion 1is the Conclu-
ston (P).
Venn diagrams of “All yellows
arg pinks" :

After combining Venn dia-
grams I and'V, we get :

This diagram supports the
Conclusion L.

©0. (1) All roads are paths.

No pmdge.

A + E = E-type of Conclusion,
“No road is a bridge”.
Conclusion II is the Converse
of the Hrat Premise.
(91~98) :
Moath City
Jarary " Mumbai
February Kolkata
March Chennal
April Bangalore
May Delhi
June . Bhopal
July - Cochin

91. (1} Only Kolketa andition was
held between Mumbat audi-
. tion and Chennai audition,
92. (5} The Mumbai audition was
held in January.
Delh audiion was held in Mey,
Cochin audition was held in
July.
Kolkata andition was held in
February. :
(4) Kolkata audition was held
jmmediately after Januacy.
Bangalore audition wad held
immediately after March.
Cochin audition was held im-
mediately after June.
Chennai audition was held
smmediately after February.
The combination ‘May-Delli’
is correct.
94. (4) Chennai andition was held
in March.
. (5) The Mumbal audition was
held in January.
{4) 687 — 2 =585
6849 -2 = 647 “
925 -2 =923
378-1 =377
. 864-1=863
377 < 585 < 647 < 863 <923
Second largest number = 863
= 564
7. (2) 587 = 785
649 =946
378=8B73
925 =» 529
864 = AGHR
Second largest number = 873
Required difference =8-3=5
g8, {5) 587 = 578
6549 =469
378=378
026 = 280
864 = 468
Smallest number = 259
its third digit =9
99, (35687 =5+8+7=20
649=6+4+9=19
378=3+7+8=18
925 =9+2+5=16
fgL=8+6+4=18
100.(1) 587 = 687 = 786
549 =» 740 = 947
378 =478=8B74
925 = 1025=>5210
864 = 964 = 469

Second largest number = 947

28,

Its third digitis 7. Qoo

= R




